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General Instrye

Read the [ollowing i

(1)
(ii)

(i) '

(iv)

(v)

(v)

(vii)

liong ;

VEstruetions carefully and strictly follow them :

1 A 1
This question paper

This

S question papey conlaing two Sections !

containg 34 questions. AU questions are compulsory.

Section A - Macro I}

Leonomics

Seeti ' -
ection B - Indian liconomic Development

This paper. contains 20 Mnltzp!v Choice Questions Type questaons of 1 mark
each,

This paper contains 4 Short Answer Questions Type-I' questions of 8 marks
each to be answered ; in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks
each to be answer ed in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words. ’

Attempt all parts of a-question together.

SECTION A
- Macro Economics
An Indian company receives a loan from a company located abroad. This

transaction would be recorded on the side of
account in India’s Balance of Payment.

(Choose the correct alternatwe to fill up the blanks) 1
(a)  Credit, Current '
(b)  Debit, Current
()  Credit, Capital
(d  Debit, Capital

s R B . P.T.O.
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R
S:atd the followlng statements carefully :
Qlement ] : Investment is defined as addition to the physical capital
and changes in the inventory.

At equilibrium level of income, ex-post investments and
ex-post savings are always equal.

In light of the given statements, choose the correct alternative from the
followzng 1

Statement 9 -

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c)  Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

3. - The Reserve Bank of India (RBI) - government securities in a

bid to the stock of money in the economy.

(Choose the correct alternatwe to ﬁll up the blanks) 1
(a)  sells, decrease '
(b)  purchases, decrease
(c) sells, increase

(d) purchases not change :

4, Read the followmg statements : Assertlon (A) and Reason (R) Choose the
correct alternatwe glven Below. ., = 24 . , . 1
Assertion (A) : RlCh people have lower Margmal Propenelty to Consume

(MPC) as compared to poor people

Reason (R) : Consumptlon curve makes an 1ntercept on the y-axis at a
point above the origin.

2 : Bripd

Alternatlves . ' _ .

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason’ (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) ~ Assertion (A) is false, but Reason (R) is true. -

E ' . r '
' 58/4/3 s8> 5 ~ PTO.
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Read the following statements ; Assertion (A) and Reason (R). Choose the

correct alternative given below.

Assertion (A) : Excess demand does not lead to any increase in the level

of real output.
Reason (R) :

Excess demand creates a gap between actual demand and
desired demand corresponding to full employment level.

Alternatives :
(@) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) 18 not

the correct explanation of the Assertion (A).
() Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

6. Read the following statements carefully

Sfatement I: Balance of Payment acc_ount is always balanced in
accounting sense.

Statement 2 : Autonomous transactions, restore balance in Bélance of
Payment account. -3

In light of the given statements, choose the correct alternative from the
following : Lo _ 1

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2.is true.
(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/4/3 N T £ PT.O.
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(A)
~ figure,

e () epvom——_[1COTE

Factors of Production

- Household-

i

Goods and Semces

() s Expenditure'

- Alternatives : i noig .
(a) National, Productlon ' - (b)  Factor, Production
(¢) Factor Consumptmn . (d)' Natibnal, Consumption

OR _
(B) Operating Surplus does not mclude
(Choose the correct a.lternatwe to fill up the blank)

(a) Interest (b) Rent

(¢) Profit’ ) N (d) ! Compensation' of employees

Deposits include __ S
Demand Dep " (Choose the correct alternative to fill up the blank)

(a)  Currency and coins held with the public

(b)  Other deposits with the Government

(c) Savings Account Deposits and Fixed Deposits
(d)  Current Account Deposits and Fixed Deposits

<> "

Cho .
0S¢ the correct alternative to fill in the blanks (i) and (if) in the

P.T.O.

gcollegedumas
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘



10.

11.

'8/4/3

(A) If the Marging] Propensity to Save (MPS) is 0-5, what will be the

value of investmeng multiplier? ~ (Choose the correct alternative) I~
b b 2
iy (@) 145

OR

(B) An merease in National Income occurs by ¥ 3,000 crore, as
Investments increg '

sed by ¥ 1,200 crore. The value of investment

multiplier woulq be !
(Choose the correct alternative to fill up the blank) 1
(a) 2 . :
© ' (b) 25 | |
SR (5
() Read the following statements carefully : '
Statement 1 : ]?epreciation of domestic currency may lead to a.
- rise in exports. _
Statement 2 : Duye to the depreciation of Indian National Rupee
(%), - purchasing power of US Dollar ($) may
increase. i 3 . _
In light of the given statements, choose the correct alternative -
from the following : Prot B fs s . 1
(a)  Statement 1 is true and Statement 2 is false. |
(b) Statement 1 is false and Statement 2 is true.
(c) - Both Statements 1 and 2 are true. '
(d) Both Statements 1 and 2 are false.
~ OR . o :
(B) Identify, which one of the following is an intangible item in

Balance of Payment (BoP). . _ 1
(a)  Export of food grains Ladn s L
(b)  Imports of crude oil
(¢)  Export of Information Technology (IT) services to US.A.
(d) Import of coal by steel company in India
Suppose the Gross Domestic Product (GDP) at market price of a country

i articular year was ¥ 1,600 crore. Net Factor Income from Abroad
?a: g 100 crore. The value of Net Indirect Taxes was ¥ 180 crore and the

National Income was
for the economy-

Z 1,050 crore. Calculate the value of depreciation
3

EEE
> i P.T.0.
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12.

13.

14.

15,

16,

(a) “The centra] .-
system.” bank needs to intervene under the managed floating

Do you a : :
gree with the given statement ? Support your answer with

Ay - OR :
(b)  Differentiate het
Account Surplus. ween Surplus in Balance of Trade and Current -

“In an eco gt .
; conomy, an increase in investment leads to doubling of the
national income.”

Calculate the Marginal Propensity to Consume (MPC) for the given
economy. 4

Read the following text carefully :

“After setting up a working group to study the possibility Of a Central -
Bank Digital Currency (CBDC) in India in 2020, the RBI revealed a
concept note on digital rupee (e-Rupee) on 7th October 2022.7

“The e-Rupee will prov1de an additional optmn to the currency available
forms of money. It is substantially not: dlﬂ'erent from bank notes, but
being digital it is likely to be easier, faster and cheaper.”

RBI said that it broadly defines CBDC as the legal tender issued by a

~ central bank in a d1g‘tta1 form. It is akm to paper currency in a different

form. i
On the basis of the above text and common understandmg, answer the

followmg questlons ;
(a) Identlfy and dlscuss the f'unctlon of central bank mdlcated in the

| ~ above text. :
(b) State .any two advantages of digital rupee. ar 3+1=4

Discuss briefly, how the government can control the situation of deflation

using the following : 4
(a) Taxation Policy |
(b) Government Expenditure Policy |

6

State the meaning of :

(@ Problem of Double Couﬁting

(b)  Operating Surplue

| (¢0  Compensation of Employees

88/4/3 - 18 ; & P.T.O.
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17,

18.
19.

20.

Wi, o <D

(@ @G « 3
Government provides essential items like food grains almost

ﬁ‘iee EO the families below poverty line.” .
entify and explain the objective of the government budget

indicated. 4
(i)  Define the following : 2
" (1) Revenue deficit
(2) Primary deficit
OR _
(b) State whether the following statements are irue or false, with valid .

reasons: |, . _ , a -
(i) High tax on higher income groups aims- to achieve the
‘reallocation of resources’ objective of the Government.
(i) Borrowings are a revenue receipt of the government.
~ (iii) . Fiscal deficit always leads to inflation. - =
‘SECTION B

Indian Economic Development '

Under the British Rule,. comn;iérc'ialisatiO'n"' of agriculture resulted in

shifting of agricultural production from -~ - cropsto.___ .. _ CTOPS.
A (Choose the correct alternative to fill up the blanks) 1

(a) Cash,.l Food L) "', Cotton, Jute
~(d)  Jute, Food

(¢¢ Food, Cash e Py 5 |
ok markets were organised to protect the "‘farmers from

malpractices in mandis: LG i
(Choose the correct alternative to fill up the blank) 1

(b)  Periodic

(a) = Regulated
(d) . Weekly

(¢)  Daily SR : (D)
(A) Carrying Capacity impliesthat . pn s g
‘ (i) Resource - extraction should remain below the rate of
regeneration. R ‘ ;
(ii) Resource extraction 'should ' remain’ above the rate of
.~ regeneration. . | . )
(iii) Generation of waste should remain within the absorption
capacity of the environment. , |
'(iv) Generation of waste should be more than the absorption
. capacity of the environment. (Choose the correct alternative)
Alternatives : oy :
(a) (i) and (iv) (b) () and (ii)
(¢c) (ii) and (ii1) (d) (i) and (iv) -
| OR
9 P.T.O.
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(B) SYstem restores maintains and erihances the ecological
balance (Choose the correct alternative to fill up the blank) 1
| (a) Chemical farming (b) ' Organic famlng
(¢) Conventional farming (d) Multi-layered farming
21.  (A) Identify, which of the following alternative is not assoc1ated with ,
- ‘goals of economic planning in Ind1a ’
(a) Ensuring equitable standard of living
(b)  Technological advancement
(6 Increasein economic growth
(d) IPro_moting imports of luxory goods
COme: 3 T |
(B) In 1951, agncultural contribution. to India’s Natlonal Income was
. (Choose the correct alternative to fill up the blank) - 1
(a) H1ghest among the three sectors - '
(b) Lowest among the three sectors
, (¢) Lower than the 1ndustr1a1 sector
(d) " Lower than the service sector -
22, (A Econormc reforms were introduced in the year. in India
and-in the year n Pak1stan -] a
| (Choose the correct altematwe to fill up the blanks) 7
(a) 1978; 1988 e (b) 1988, 1978
() . 1978, 1991 . (@ 1991, 1988 ~
| OR ' ™
(B)

Pakistan is ahead of India in the case of

(Chioose the correct alternative to fill up the blank) 1
(a) HDI value

~(b)
(c)
(d)

Per capita income
Access to sanitation facilities

Life exﬁectancy at birth

EE b P P.T.O.
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23.

24.

- 25.

Arrange the following events of China in ohronologmal order and choose
the correct alternative : - \ 1

) Great Proletarian Cultural Revolution ' ' , .
(i)  Great Leap Forward Campaign

(iii) Introduction of EconomiclReformS

(iv)  First Five Year Plan

Alternatives : . :
(a) (ii), (iv), (iii), (1) : (b)), Gi), (1), (ii)

() (i), Gv), (3), Gil) . @ Gw), (), Gi), (i)

Read the following statemenits carefully .

Statement 1: Economic growth means the increase in real national
income of a country

Statement 2 : Human capital formation and Human - development are
- one and the same concepts.

- In light of the given statements, choose the correct alternative from the
-following : 4 _ | o : 2

(a) Statement 11is true and Statement 2 is false.

(b) = Statement 1 is false and Statement 2 is true.
(¢  Both Statements 1 and 2 are true. |

d Both_ Statements 1 end 2 are false: . _ _.

Read the following. statements’ carefully

Statement 1 : ‘Liberty indicators’ measure the extent of constltutmnal

protectmn given to the citizens.
Statement 2 : Indla ‘provides fair constitutional protection to its citizens.
In light of the gwen statements, choose the correct alternative from the

- following : . ‘ . 1

(@)  Statement 1 is true and Statement 2 is false.
(b) . Statement 1 is false and Statement 2 is true.
(¢©)  Both Statements 1 and 2 are true.
(d Both Statements 1 and 2 are false.

58/4/3 '_ - i B P.1.0.
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26.

Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below. ' 1
Assertion (A) : China adopted the ‘Open Door Policy’ as a major economic
reform initiative. . .

¥ Reason (R): It aimed at industrialising the country on a massi‘?e scale.

Alternatives :
. (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
_ cori'e;:t e}ﬁplanation of the Assertion (A). |
(b)  Both Assertion (A) and Reasonz (R) are frué, but Reason (R) is not
: the correct explanation of the Assertion (A).
(c) . Assertion (A) is true, but Reason (R) is false.
(@  Assertion (A) is false, but Reason (R) is true.

27. 'Read the followmg statements : Assertion (A) and Reason (R). Choose the
correct alternative gwen below B y ] 1
Assertion (A) : The nature of unémponment | problem in India is

. : multi-faéeﬁed. ' | :
Reason (R) : Worker-Popﬁlaﬁon ratio is an indicator used for analysing
 the employment s;ituation in a Icoﬁntry. S

Alternatives: ; '

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanatlon of the Assertion (A). . S b
(b)  Both Assertion (A) and Reason (R) are true ‘but Reason (R) is not
- the correct explanatlon of the Assertion (A).
(c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) i.ls true.
58/4/3 la1> 8 b
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Interpret the given

picture with yef. B ;
challenges. . erence to current env1ronment§1

Note : 1 'he ﬁ)llowmg questwn s far the V;suall o e TR
‘) Impmred Cand '

Discus's any one curren_t ,environmental cha]lenge. A ' .3

"

29,
% (@ Discuss any two problems being faced in the process of rural
bankmg in India. | - B 3

OR

P.T.O.

z - ' gcollegedunias
. India’s largest Student Review Platform

58/4/3

o



(b) Allalyse and COI.n
India as deps Pare the nature of the workforce distribution in
Plcted In the diagram given below : ¥

Do . ‘ .
Ulstrlbutlon of Employment by Region
rban Workers Rural Workers

Casual Wage Labourers v ' Regular Salaried Employees-

i Self-e[tlﬁloyed % e

30. “Human Capitel benefits only the '6%8;- and not the seciety.” Defenti or

" refute the given statement 4
3L Fi'om the ‘data. g'wen below compare and contrast Ind1a s and China’s
: sectoral contnbutlon towards GVA/ GDP oois 52 e 4
Sectoral Contribution to GVA/ GDP ( in %) (20 18 19)
/ ”/‘/""._.—-——-——_ -
: Sector India ; China
Agriculture 8 7 :
Tndustry | 30 i 41 4
Services | 54 “ 52
32. Discuss any two 1iberalisationl measures pertaining to the finanmal e
| ARAGEL 1 ntroduced by the Government of India during the economm
; ' E
- reform process Of 1991. ,,
: P.T.O.
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33.

34.

(a) (@)

Explain the need and types of land reforms implemented in
. the agriculture sector.

] in i trial
() Why was public sector given a leading role in industria
development during the planning period ? Explain.
OR
®) Q)

Explain the reasons why the industrial sector has performed
poorly in the reform period.
- () Distinguish between the Bilateral and Multilateral trade.

Read the following text carefully :

Adoption of Village by Parliamentarians

In’ October, 2014,'_t1{e ‘Government of Ind'i'a introduced a. new scheme
called Saansad Adarsh Gram Yojan.al (SA _.Y). ‘Under this ‘scheme,
Members of India’s Parliament need‘ to-jdéntify and. deYelop one village
from their constituencies. To begin with, MPs can develop one village as a
model village by 2016, and two! more by 2019, covering' o-ver 2,500 villages

in India. Accordmg to the scheme, the .villag‘éﬁ can have_- a population of
3,000 — 5,000 in the plains_.and 1,000,-— 3,000.in. the hills and should not

pouse’s v_ﬂlage. M_Pg :'are'expected to facilitate a
» motivate villagerg 'tq take up activities and

e areas ;}f heali;h,- nutrition and education.

be the MP’s own or their s
village development plan

bui_ld infrastructure in th

' On the basis of the given text and

. common understanding, answer the’
following questions 3

(a)

(b) - State the yardsticks for éelecting villages under the SAGY Scheme.

58/4/3
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